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0.1) Solve .
a)

x+5=3(x+1)

x =1

3(x+5)=x+1

x =-7

3.3(x+5) =3(2x + 1)

x =4

4.3(x+5)=312x —1)

x = 6

b)

- 3(x—5)=302x+ 1)
x = —6

- 3(x—5) =—32x + 1)

12
9

x:

—3(x+5) = —3(2x + 1)

x =4

- —3(x—5) = —3(2x + 1)

x = —6

1) 2z+1=—-4z+9 2) 4z+1=5z—2 3) —dr=—-2+3

i

| Answer: 4 Answer: 3 Answer: —1

4) —3x =bx + 8 5) —bx =3z + 16 6) dr —1=—-x+9

r

e

( Answer: —1 Answer: —2 Answer: 2

k¥

7)  —4 = —5x — 28 8) —br=-2r+6 9) —5x =2z — 28

| Answer: —4 Answer: —2 Answer: 4




0Q.2) Solve each system of linear equations by

adding or subtracting.
1. x-5y=10 2. x+y=-10

2x+5y =5 S5x+y=-2

(5, -1) (2,-12)

. 4x+10y =2 4. -3x-7y=8
-4x+8y =16 3x -2y =-44

(-2, 1) (-12, 4)

. =X+4y =15 6. 4x+11y =5
3x+4y =3 4x -11y =-5

(-3, 3) infinitely many solutions

Q.3)
a)
Determine whether the given ordered pair is a solution of the
following system of equations.
1. (O, 1) Ix—22y—3
6x—5y=10

y—2x=1
—3Bx+y=-—1




3.
(-&.-1) 7y —4x=3

Sx+y=14

yes

Q.4 ) Tell whether the equation has one , zero , or_infinitely
many _solution .
Note:

What does this mean? | How many solutions?

When the value ofx is a, the

goRins 1
equation is a true statement.

Any value of x makes the

: Infinitely man
equation a true statement. y y

a = b, where | There is no value of x that makes

a#b the equation a true statement. 0

One Solution No Solutions | Infinitely many
solutions

3x+4=8x—9 6x+5=8+6x 10x—4=—-4+10x

—4x—-5=6—11x |12—-15x=-2-15x | —2x+5=—-2x+5




One Solution
X=a

No Solutions
a=>hb

Infinitely Many

Solutions
X=X

Equation

7x—3=5x+5

7x—3=7x+5

7x—3=-3+7x

Use
properties
of equality

“Solve”

7Tx—3=5x+5
X+ 2x—3=5x+5
2x —3 =5
2x —3=5—-3+4+3
2x =8
r+x=4+1+4
X =4

One Solution
X=an

No Solutions
a=hb

Infinitely Many

Solutions
X=X

Equation

3(y+2)=30

5(2 + ¢) = 45 + 5S¢

20@—2)=2a—4

Use
properties
of equality

“Solve”

3(y+2) =30

3(y+2) 30

3 3
y+2=10

y+Z=8+Z
y=8

5(2+c¢) =45+ 5¢

5(2) +5(c) =45+ 5¢
10+ 5¢c = 45 + 5¢

10 +.5¢ = 45 4.5
10 = 45

2(a—2)=2a —4
2a—4=2a-—4
A —4 =30 — 4




xX=ua

One Solution One Solution

X=a

Equation 2x+ 12 =x+ 12

You Try!

Use 2x = x
X ot ="
properties x =0

of equality

“Solve”

Q.5) What is the solution t

2y + 12 =x+ 12
2x + ¥2 = x + X2

othe systemof

equations shown?

1) one solution
a) Graph....when the lines
intersect at a single point. (x,y)

Or
b) Algebraically........ x = a

2) no solution
a) Graph ..... when the lines are
parallel

Or

b) Algebraically
False statement

2=4




3) infinitely many solutions
a) Graph ..... when the lines are
the same line

Or

b) Algebraicall
True statement

/
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Solution: (_1_, Solution: (_-9 , 2

y=i.l:+3 y:si;r,-j-j

2
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Solution: (_4 , 5 ) Solution: (_-3 , -2 )
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Solution: (_2 ,

=2 )

h 4

Solution: (_1 _, 6 )



